X[1]<=0.5
gini = 0.461
samples = 203
value = [73, 130]

'

X[32] <=32.5
gini = 0.49
samples = 100
value = [57, 43]

T

X[32] <= 14.0
gini = 0.262
samples = 103

value = [16, 87]

l

/

\

True

X[78] <= 0.5
gini = 0.461
samples = 413

value = [264, 149]

'

X[14] <=63.0
gini = 0.165
samples = 210
value = [191, 19]

X[85] <=0.5
gini =
samples = 200
value = [191, 9]

0.086

N

gini =
samples = 10
value = [0, 10]

0.0

/

\

X[123] <= 0.5
gini = 0.273
samples = 995
value = [833, 162]

Ealse

X[125]1<=0.5
gini = 0.044
samples = 582
value = [569, 13]

'

X[94]<=1.5
gini = 0.015
samples = 542
value = [538, 4]

VAN

X[19] <= 0.5 X[69] <=17.5
gini = 0.007 gini = 0.32
samples = 532 samples = 10
value = [530, 2] value = [8, 2]

X[136] <= 3.5
gini = 0.349
samples = 40

value = [31, 9]

'

X[69] <=0.5
gini = 0.476

samples = 23

value = [14, 9]

gini =
samples = 17
value = [17, 0]

0.0

pa

l

'

gini = 0.0 X[47] <= 0.5 gini = 0.0 gini = 0.0
N gini = 0.159 B -
samples = 509 samples = 23 samples = 2 samples = 8
value = [509, 0] value = [21. 2] value = [0, 2] value = [8, 0]
gini = 0.0 gini = 0.0 X[112] <= 29.0 gini = 0.0
- _ gini = 0.444 -
samples = 6 samples = 20 samples = 3 samples = 1
value = [0, 6] value = [20, 0] value = [1, 2] value = [1, O]
gini = 0.0 gini = gini =
samples = 1 samples = 2 samples = l
value = [0, 1] value = [0, 2] value = [1, 0]

X[12] <=4.0 =00 X[34] <=9.5 X[1] <= 18.5 X[43] <=0.5 X[12] <=13.5
gini = 0.302 sail le_s _ 30 gini = 0.115 gini = 0.499 gini = 0.021 gini = 0.42
samples = 70 Valuep— [0_ 30] samples = 82 samples = 21 samples = 190 samples = 10
value = [57, 13] > value = [5, 77] value = [11, 10] value = [188, 2] value = [3, 7]
X[30] <=1.0 ) l_ X[9] <=0.5 ) @ X[44] <= 0.5 . X[78]<=1.5 . .l_ X[471<=1.0
gini = 0.148 i =00 gini = 0.049 pm =00, gini = 0.278 im0 gini = 0.011 fm =00 gini = 0.375
samples = 62 Valuep B [0_ 8] samples = 79 Valuep— [3_ 0] samples = 12 Valuep ~ [9_ 0] samples = 189 Valuep ~ [()_ 1] samples = 4
value = [57, 5] > value = [2, 77] 7 value = [2, 10] v value = [188, 1] > value = [3, 1]
gini = 0.0 X127 <= 1.5 X[124] <=0.5 gini = 0.0 gini = 0.0 gini = 0.0 X[133] <= 260 gini = 0.0 gini = 0.0
_ gini = 0.278 gini = 0.025 - o - gini = 0.18 - -
samples = 56 ~ ~ samples = 1 samples = 10 samples = 2 - samples = 179 samples = 3
value = [56, 0] samples = 6 samples = 78 value = [1, 0] value = [0, 10] value = [2, 0] samples = 10 value = [179, 0] value = [3, 0]
’ value = [1, 5] value = [1, 77] ’ ’ ’ value = [9, 1] ’ ’
gini = gini = gini = 0.0 Xigi]j; 377(5) gini = 0.0 X[liln2i]_<g 52 0
samples = samples = l samples = 74 %amples; 4 samples = 8 sfmple R _ )
value = [0, 5] value = [1, O] value = [0, 74] value = [1, 3] value = [8, 0] value = [1, 1]
gini = gini = gini = gini =
samples = 1 samples = 3 samples = l samples = l
value = [1, 0] value = [0, 3] value = [0, 1] value = [1, 0]

X[44] <= 12.0 X[47]1<=1.5
gini = 0.278 gini = 0.36
samples = 6 samples = 17
value = [1, 5] value = [13, 4]
gini = 0.0 X[§17i]—<(7 4(1)85 gini = 0.0
samples = 5 q agmples ~ 10 samples = 7
value = [0, 5] value = [6, 4] value = [7, 0]
X[34] <= 6.0 \ ;
o i =0.0
gini = 0.245 sa%mples _ 3
samples = 7 value = [0, 3]
value = [6, 1]
gini = gini =
samples = 1 samples = 6
value = [0, 1] value = [6, 0]




